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HPAS (Main)—2013

AGRICULTURE
Paper 1I
Time : 3 Hours Maximum Marks @ 150
Note — Attempt Five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.
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1. (a) What do you mean by “Intellectual property” ?
How can the intellectual property be protected ?
What is the relevance of Intellectual Property

Right (IPR) in agriculture ?

) Describe the various methods of seed testing

for seed certification. 2x15=30

P.T.O.
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Discuss in detail any three of the following : 3x10=30

(a) Popular layouts and designs of ornamental
gardens.
b)) Mendel’s law of inherintance and its importance

in plant breeding.
(c) Selection methods of plant breeding.

(d) Extent and scope of flower cultivation 1in

India.
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Write production technologies of any three of

the following : - 3x10=30
(a) Tomato

) Brinjal

(c) Cauliflower
(d) Okra
{e) Watermelon.

P.T.0O.
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What is Integrated Pest Management (IPM) ? What is
the importance of IPM in effective pest control ?

Also give IPM models of cotton and brinjal. 30
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Write down the causal organism, symptoms and control

measures of the following diseases -

10x3=30
(a) Loose smut of wheat
(b) Khaira disease of rice
(c) Tikka disease of groundnut
{d) Leaf curl in tomato
- {e) Powdery mildew in mango
2] Canker in citrus
) Scabe in apple
() Panama wilt in Banana
£3) Wilt in cotton
¢ Damping off in tobacco.

P.T.O.
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Write short notes on the fo]lowilig Y S5x6=30
{a) Hi-tech horticulture

&) Alternate bearing in mango and apple

(c) Pesticide pollution in environment

(d) Method of preparation of guava jelly

(e) Role of plant hormones in horticultural

crops.
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Answer the following questions : 3x10=30

() What are male sterile lines ? Describe its role

in seed production.

(b) What is detasseling ? How does it help in hybrid
breeding ?

(c) Differentiate mass selection from pure line

selection. Why has pure line selection been

widely used than mass selection ?
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8. Answer the following : 15%x2=30

(1)

In Iime squash (0 Brix, acidity 6%), ........cccovvnn...
grams potassium-meta-bisulphite is added in 1.0

kg fruit juice.

(@) 5.53
(5) 4.43 |
((.!) 3.43
(d) 2.43

PO,
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2 “Pride of India”™ is a variety of ................ e .
(ax) Radish
(5) Carrot

(c) Cauliflower

(d) @ Cabbage .

(3) In North India, ideal time for T-budding in roses
FE - - ety ST
(ax) -O,ctober - November

b) January - March
(c) February - April
(d) December - February

(4) T N D e A it S e are parentage of ‘Mallika’ variety

of.‘ mango.

{ax) Ratna x Alphanso
b) Neelum x Dasheri
(c) Dasheri x ﬁatna

() Neelum x Alphanso
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(5) “Cry—1 AC gene”
POED iRt
(@) Boll worm

(5) Aphids
(e) Jassids

() Virus

(6) Breeder seed has
tag.
{a) Green

C(B) Golden
(c) | Blue

() White

protects
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cotton crop
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In seed testing “Grow out test” is conducted to

find out ....cocociiianianenn :

(a) Germination bercentage

H) Genetic purity

(c) Seed vigour

(d) Physical p.urity

Norin—10 is a dwarfism
() Maize

(&) Wheat

(c) Rice

(> Sorghum

gene

of
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In hybrid seed production of maize, the

ratio between male and female line

(@) 2 -
b) s 5 B |
(c) 3= 3

)" "% 3.8

The first product of rhotosynthesis in

.................. is phosphoglyceric acid.
(cx) C; plants
(&) C4 plants

(e) C; and C, plants

(d) None of the above

P.P0.
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S A e S i o bioagent is used to control

Heliothes in grap.
(ax) NPV

b Trichoc.lenna
() Trichogramma

() Fus_ari.um

Trichogramma egg parasites are released in

maize fields for control of ................. .
(a) Stem borer

(b) Army worm

{c) Aphids

) Grass hopper
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(13) Pyrethrum extract is made o
() Leaves of rose
(5) Leaves of tobacco

(c) Flowers of the tobacco

Ad) Flowers of Chrysanthemum

(14) Late blight disease in potato is caused

o Rt L
() Phytophthora infestans
b)) Alternaria solani-

(c) Albugo candida

(d) Cercospora capsici

o).
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(15) Causalerganism for scabe disease in apple
1 S TRt e
() Venturia inaequalis
b) Fusarium oxisporunt
(c) Pseudomonas solanacearuimn

() Phytophthora palmivora
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(31) 5.53
(=) 443
(") 3.43

() 243
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